

$$H(z) = \frac{5}{(1 - 0.8z^{-1})(1 - 0.7z^{-1})}$$

$$H(z) = \frac{A}{(1 - 0.8z^{-1})} + \frac{B}{(1 - 0.7z^{-1})}$$

$$5 = A(1 - 0.7z^{-1}) + B(1 - 0.8z^{-1})$$

$$\begin{aligned} \textcircled{1} \quad z = 0.7 \quad 5 &= B(1 - 0.8 \cdot (0.7)^{-1}) \\ 5 &= B\left(-\frac{1}{7}\right) \end{aligned}$$

$$\begin{aligned} 35 &= -B \\ B &= -35 \end{aligned}$$

$$\begin{aligned} \textcircled{2} \quad z = 0.8 \quad 5 &= A(1 - 0.7 \cdot (0.8)^{-1}) \\ 5 &= A(0.125) \end{aligned}$$

$$\begin{aligned} A &= 40 \end{aligned}$$

$$H(z) = \frac{40}{(1 - \frac{8}{10}z^{-1})} - \frac{35}{(1 - \frac{7}{10}z^{-1})}$$

$$H(z) = 40 \left[\left(\frac{8}{10}\right)^n - 35 \left(\frac{7}{10}\right)^n \right] u(n)$$

$$y(n) = x(n) \cdot L(z)$$

$$y(n) = \left[40 \cdot \left(\frac{8}{10}\right)^n - 35 \left(\frac{7}{10}\right)^n \right] u(n) \quad \#$$